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. The following sentence has been transformed intg

. He said that he had hated to go to school. Which

/0.

/1.

/2.

4) He denied his guilty and asked to be set free

the passive in four ways.Which trans formation ig
the best?

"They will make him king™

1) He will be made king by them

2) King would be made by them

3) He was made king by them

4) King will be made by them

In which sentence is the verb in the active voice
1) They were detained at the gate

2) You have made its easy

3) It has been recently disproved

4) She was known for her talent in music?

of the following is the right direct speech version
of the above sentence?

1) He said " | hate to go to school”

2) He said " I hated to go to school"

3) He said "I was hated to go to school”
4) He said "I was hating to go to school”

Read the following sentence Rama said ** | will
meet Seetha today"

Which of the following is the best reported speech
version of above sentence.

1) Rama said that he will meet sita today

2) Rama said that he would meet sita today
3) Rama said that he will meet sita that day
4) Rama said that he would meet sita that day

Choose the sentence in which the verbs are used
in correct tenses

1) I had met him yesterday after the rain stopped
2) | have met himyesterday after the rain stopped
3) I met him yesterday after the rain had stopped
4) | was met him yesterday after the rain was stop
ping
In which of the following sentences are all prepo-
sitions used correctly?

1) I am not sure it | can accept the post, as | am stil
looking for a house to live in

2) | am not sure if | can accept at the post, as | am
still looking at a house to live in.

3) I amnot sure it | can acceptof the post,as | am stil
working for a house to live on.

4) lamnot sure it | can accept at the post, as I am stil

73.

74.

75.

76.

77.

/8.

79:

looking out a house to live by

In the following sentence, the underlined part uses
the wrong tense form of the verb. Replace it with
the correct choice from the four forms given.

The price of essential commodities have rose.

1) risen 2) raised  3) rised 4) rising

One of the words under lined in the following sen-
tences is spelt wrongly. Which is it?

1) They receive the wages today

2) | have perceived the difference

3) We change the conventions

4) Ignorence is bliss?

One of the following words is spelt wrongly. Which
isit?

1) Utterance 2) Guidence

3) Deliverance 4) deceptive

Which of the four words given is closest in mean-
ing to the underlined word in the following sen-
tence.

The coatiis expensive
1)Bright  2) Cheap
She sanga dolefulsong
Which of the following is a word opposite in

3) Costly 4) Deceptive

meaning?

1) Kind 2) Gentle  3) Mocking 4) Merry
Choose the synonym of ""Cynical™ from the fol-
lowing

1)Bright  2) Cheap  3) Ironic  4) Deceptive
In the following sentence a wrong article is used .
Itisunderlined. Replace it with the correct article
from the choices given.

The price of an gold went up

1)a 2) one 3)an 4) no article

(80-83) Read the following passage and answer the

questions.

Each family these days has fewer children than
before. Anus.parents and teachers, want out chil-
dren to be better than us. A cademic studies have
become the focus of life for a child. All parents
feel that their child should perform well,get good
grades to ensure a brilliant future. All other mat-
ters are of secondary importance.

Teachers put pressure on the child when the
child tails to perform well. Parents blame the teach-
ers for the poor grades of their words. The child is
at the receiving end from both sides, and starts

oFso 5550 werDHEM (FHokeod , S ETroNT TR Dasdho ST,
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80.

81.

82.

83.

84.

85.

showing behaviour problems. Matters seem to go
downhill on all fronts.

Research has revealed that all children do not
learn at the same place or by the same method.
Some are quick on the up take but bad at repro-
ducing on paper. Some seem to learn tast and
forget qually queickly. Other seem to have a men-
tal block that prevents them from learning . Un-
fortunately our education system tries to equalise
all of them. This results in some children getting
left behind much to the anguish of parents and
the irritation of teachers.

Which of the following would be the most suit-
able title to this passage?

1) Importance of good academic performance

2) Child's academic performance and problems
3) Parental pressure on children

4) Good grades for children

What do the parents expect of their children?
1) Children should do well at examinations

2) Children should be obedient and courteous
3) Children should grow healthy and strong

4) Children should relax and enjoy?

Why do children show behaviour problems at
school?

1) Children are not disciplined

2) Children are jealous of their classmates

3) Parents and teachers put pressure on the children
4) Parents and teachers neglect the children

Why do not all children performequally well?

1) Some children are weak while others are strong
2) Parents and teachers are impatient with them

3) Schools do not work well

4) Children have different method of learning
When the prime Minister said this, we know
whom he was eluding to.

( Improve the sentence by replacing the part of
underlined, with the alternate option)

1) referring 2) alluding 3) hinting 4) suggesting
The teacher gave a handout containing a passage
along with three titles to the students and asked
them to read the passage quickly and select the
appropriate title.

The activity emplyed by the teacher in the class-
room s

1) Braistorming 2) mind mapping

86.

87.

88.

89.

90.

92.

93.

94.

95.

96.

97.

98.

91.

3) skimming 4) scanning

The method that emphasises the pupils to think in
the target language is

1) GT method 2) Direct method

3) Bilingual method 4) Reading method

The S-O-S approach made its advent in India in
1952. The first Indian state to agree to use this
approsach was.........

1) Madras state
3) Bengal state
IELTS conducts
1) Placement test 2) Proficiency test
3) Diagnostic test 4) Aptitude test
Famous book in Middle English

1) Table Alphabetical

2) Prologue of Can terbury Tales

3) King James Version of the Bible

4) Loves Labour's Lost

Dictation isthe technigue which integrates the fol-
lowingsskills

1) Reading and writing - 2) Listening and writing
3) Listerning and writing 4) Speaking and writing
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